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Note : This paper is of eighty (80) marks containing three
(03) Sections A, B and C. Learners are required to
attempt the questions contained in these Sections
according to the detailed instructions given therein.
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Section-A / Us—dh

(Long Answer Type Questions) / (€78 IT<1I T%)

Note : Section ‘A’ contains four (04) long answer type
questions of nineteen (19) marks each. Learners are
required to answer two (02) questions only.
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What do you mean by Budget Line ? Explain the
equilibrium of consumer with indifference curves.
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What are the motives for liquidity preference ? Explain
the Keynesian theory of interest.
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Show the equilibrium of a firm under perfect

competition. When would a loss-making firm stop
production ?
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Define profit. Critically discuss Knight’s theory of
profit.
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Section-B / Yrs—Yg
(Short Answer Type Questions) / (75 STRIF U%)

Note : Section ‘B’ contains eight (08) short answer type
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questions of eight (08) marks each. Learners are
required to answer four (04) questions only.
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Explain the Law of Diminishing Marginal Utility.
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Define income consumption curve and price
consumption curve.
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What do you mean by producer’s equilibrium ?
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Differentiate between short period and long period
production function.
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Explain the concept of ‘Elasticity of Substitution’.
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State the necessary conditions of price discrimination.
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Discuss the modern theory of Rent.
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How is the wage determined under perfect
competition ?
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Note : Section ‘C’ contains ten (10) objective type

questions of one (01) mark each. All the questions
of this Section are compulsory.
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Choose the correct answer :
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A consumer will be in equilibrium when :
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“The Economics of Welfare’ was written by :
(@ A. Marshall

(b) Adam Smith

(c) A.C.Pigou

(d) None of these
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3. The slope of Indifference curve becomes :
(@) Positive
(b) Negative
(c) Zero
(d) Infinite
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4.  Which of the following curves represents rectangular
hyperbola ?

(@ TVCcurve

(b) TFC curve

(c) AVC curve

(d) AFC curve
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The Cobb-Douglas production function Q = A L> KB
gives constant returns to scale when :
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In short-run the shut-down point will occur,
where :

(@) Price=AVC

(b) Price=AFC

(c) TR=TVC

(d) None of these
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7. Which of the following relations is true for monopoly ?
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Which of the following is not related with welfare
economics ?

(a)
(b)
(©
(d)

Kaldor
Scitowsky
Daivi
Bergson
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Risk Theory of Profit was propounded by :
(@ J. M. Keynes

(b) Hawley

(c) J.S.Mmill

(d) Kbnight
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According to Ricardo, rent is paid for :

(@ Solil

(b) Fertility of Soil

(c) Original and Indestructable fertility of the soil
(d) Original fertility of the soil
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